

A simple proof of the Perron-Frobenius theorem for positive symmetric matrices

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1976 J. Phys. A: Math. Gen. 9 1281

(<http://iopscience.iop.org/0305-4470/9/8/017>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.108

The article was downloaded on 02/06/2010 at 05:45

Please note that [terms and conditions apply](#).

A simple proof of the Perron–Frobenius theorem for positive symmetric matrices

F Ninio

Department of Physics, Monash University, Clayton, Victoria 3168, Australia

Received 5 April 1976

Abstract. An elementary proof is given that the statistical mechanical transfer matrix, when symmetric, has a maximum eigenvalue which is non-degenerate and larger than the absolute value of any other eigenvalue. Moreover, the corresponding eigenvector can be chosen so that all its entries are strictly positive.

1. Introduction

In statistical mechanics the transfer matrix \mathbf{A} allows the partition function of a system to be expressed in the form (Newell and Montroll 1953)

$$Z = \text{Tr}(\mathbf{A}^N) = \sum_j \lambda_j^N$$

where the $\{\lambda_j\}$ are the eigenvalues of \mathbf{A} . From this one obtains the free energy F per particle in the thermodynamic limit as

$$F = -kT \lim_{N \rightarrow \infty} N^{-1} \ln Z = -kT \ln \lambda_{\max},$$

provided λ_{\max} is positive, non-degenerate and greater than the absolute value of any other eigenvalue. These properties of the maximum eigenvalue are guaranteed for any square matrix \mathbf{A} with elements $a_{ij} > 0$ by the Perron–Frobenius theorem (Bellman 1970). There are many proofs of this result (see for instance the references in Bellman 1970), but all are quite long and by their generality tend to obscure the origin of the result. In most applications to statistical mechanics however one is concerned with a matrix which is symmetric ($a_{ij} = a_{ji}$) in addition to being positive ($a_{ij} > 0$). A much simpler derivation can then be given. This is the object of the present paper.

2. Theorem and proof

Let $\mathbf{A} = (a_{ij})$ be an $n \times n$ symmetric matrix with elements $a_{ij} > 0$ and let λ be the largest eigenvalue. Then

- (i) $\lambda > 0$
- (ii) there exists a corresponding eigenvector (x_j) with every entry $x_j > 0$
- (iii) λ is non-degenerate
- (iv) if μ is any other eigenvalue, $\lambda > |\mu|$.

Proof

(i) Since the eigenvalues of \mathbf{A} are real and their sum equals $\text{Tr } \mathbf{A} > 0$, it follows that $\lambda > 0$.

(ii) Let (u_j) be any real normalized eigenvector belonging to λ ,

$$\lambda u_i = \sum_j a_{ij} u_j \quad (i = 1, 2 \dots n), \quad (1)$$

and set $x_j = |u_j|$. Then

$$0 < \lambda = \sum_j a_{ij} u_i u_j = \left| \sum_{ij} a_{ij} u_i u_j \right| \leq \sum_{ij} a_{ij} x_i x_j.$$

By the variational theorem, the right-hand side is less than or equal to λ , with equality if and only if (x_j) is an eigenvector belonging to λ . We therefore have

$$\lambda x_i = \sum_j a_{ij} x_j \quad (i = 1, 2 \dots n). \quad (2)$$

Now if $x_i = 0$ for some i , then on account of $a_{ij} > 0$ for all j , it follows every $x_j = 0$, which cannot be. Thus every $x_j > 0$.

(iii) If λ is degenerate, we can find (since \mathbf{A} is real symmetric) two real orthonormal eigenvectors $(u_j), (v_j)$ belonging to λ . Suppose that $u_i < 0$ for some i . Adding equations (1) and (2), we get $0 = \lambda(u_i + |u_i|) = \sum_j a_{ij}(u_j + |u_j|)$, and as above, it follows $u_j + |u_j| = 0$ for every j . In other words we have either $u_j = |u_j| > 0$ for every j , or $u_j = -|u_j| < 0$ for every j . The same applies to (v_j) . Hence $\sum_j v_j u_j = \pm \sum_j |v_j u_j| \neq 0$, i.e. u and v cannot be orthogonal. Thus λ is non-degenerate.

(iv) Let (ω_j) be a normalized eigenvector belonging to $\mu < \lambda$,

$$\sum_j a_{ij} \omega_j = \mu \omega_i.$$

The variational property and the non-degeneracy of λ now yield

$$\lambda > \sum_{ij} a_{ij} |\omega_i| |\omega_j| \geq \left| \sum_{ij} a_{ij} \omega_i^* \omega_j \right| = |\mu|.$$

Acknowledgments

I am indebted for Professor H Falk for bringing this problem to my notice, as well as for helpful correspondence on the subject. Part (iv) was communicated to Professor Falk by Professor F Wu.

References

- Bellman R 1970 *Introduction to Matrix Analysis* (New York: McGraw-Hill)
 Newell G F and Montroll E W 1953 *Rev. Mod. Phys.* **25** 353–89